JERRY GREER'S ENGINEERING ©2020 9

Battery & Mounting

Revised: 10/27/2020 6
10

12

Page 1 Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




Jerry Greer's Engineering - 1947 Chief - Battery & Mounting

Ref Part # Qty Description Price
1 75563 1 BATTERY CRADLE, mounting hardware not included; Bare Finish $75.00
2 75563-C 1 BATTERY TRAY, ; Bare Finish $16.00
3 38770 1 BATTERY TRAY MAT, 3-3/4" X 6-3/8" long, black rubber $6.50

4 JG-2548 1 FASTENERS, mounting hardware to assemble battery cradle $25.00
5 207113 2 BOLT, 5/16"-24 X 1"(Hex) $3.00

6 207117 3 BOLT, 5/16"-24 X 1.500"(Hex) $4.75

7 207119 1 BOLT, 5/16"-24 X 1.750"(Hex) $3.75

8 922007 5 WASHER, 5/16" Split Lock; Cad Plated $0.75

9 606010 6 NUT, 5/16"-24(Hex); Cad Plated $1.25
10 75540 1 BATTERY CLAMP, mounting hardware not included; Powder Coat Black $30.00
11 JG-3384 1 BATTERY SHELL WITH BATTERY, 6-Volt 13 AMP battery included, 40-53 Original Indian style shell $195.00
12 JG-3385 1 BATTERY SHELL, hard rubber box, includes lid & battery terminals, 40-53 Original Indian style shell, 6-9/16" long X 3-13/16" |$125.00

wide X 7-3/8" high

13 JG-4454 1 BATTERY, 6-Volt, 13 AMP HR., Acid not included, use in battery shells; (4-9/16" X 3-1/8" X 6-1/4" high) $90.00
14 JG-2568 1 BOLT, 5/16"-24 X 3"(Hex), battery hold down clamp, (Only for ML3-6P-GS Japanese battery) $2.50

Page 2

Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering




